Rp3b Ton=xy+xx=hXy x>0  y>o

~>{ Ty = wa).*\
fy 0

x)= x4
{Vﬂ ¥ = yfa-yso Dy=) oY=3
7(\\;: = htien| )bo?m‘,-‘ (f,"‘)
=) ﬁx(XyY):X\):. 2 (fxf .F / ‘/L: { -0
'ﬁy(XJ)r { e
Fy Y= and £ (4,25 80

prence ‘F )w /ooa/ minimum, At (-‘f,"*)
b v Lok ‘f;/v(a,b)<o = (ﬁ,(f” ~ ﬁ;)(w<o
:) J(\ Worlt Amve extieme VO\/ME at (2/h)

Bg-g Than=x¥" Wetrs| D lep W AR €

lX+}’

{Vf AV { X+>y
XHXY 4y < =0

0 2f A=0 = a=y=0  but oo %o
@ xko s N aX= AL S Ym0 (X)

l‘Lence X=0 ",S?mrfwlj /%0




*

(11]) 2o, X320, y¥o

O X (Xt N . i
=5 RV FasT) => >(+)_7(7~;)(y+7 = y=1

O y=x= )(LJ”‘V =0 D= = X=1+#

® y=ox = Xy ty=i=o = Y| = A=

The pearest : (), (4 3

Twshert + L0, =1 D)

Tix, v, 212 Xy z H
2=l = g 2)= 2
Xﬁryxw‘{:/o S %Wz = X#ﬁ 2 ~/0

{sza(vgﬁ WV =

AXYE 0 X
* = Q .)/\/
(;‘i) }'(t)JM*(»z)
g*‘ ;00 Z—l=0 = Z%|
Xty —/0=0

::> D_XY: A, X = Y(Y-))=o

b

X = A3AY

le = )\l+ 1Ay
)(}:H/L :‘7




(0) I]t Y=o
XL+7L=ﬁ = Y=13D A3zn=0 = (0,23, 1)
I pe = X=ogy=yT

i1 1B 9 = 2R ool

=by-< .
. = iR
ey L)

= (L E,1), (F,0) , (-5,5,1) (F,F5.1)

- - -3, 1) = —bB

Tlo#3 0= T(eREN=bF+ , F(48 -5, )= —bE+

=  ph {?Zl Wt »lw\g O\Lso)mte movimum |+ 6E ot (48 5, 1)
Yryte=/o omd  obslute minimum |- bF at [£E1)



sBextm|  Feloy) = 3x4ax0y
Tl = areay

J=X
N
fx(x(w:o = Ity =g =
9 Y= e P
ﬁ>0
f/ (X 7)=0 :>).>(+),7 =0 o

= Y: ~X

By gmi?eﬂt mnm/y&?j ) 0.0) s & smme fomt




SR g-extra] { Xt2y+32'=4
| Xty += =3 ot U,1,1)

let oy = AFay3e=b
g(x,y,%) = ¥ty+z -3

> VPO = (30, 4, b) = vf s (> ¢ b
valxy2) =01, 1 1) vi =0,

=) ZV-F((,I,I)]X [79' U;'/')j = (=, 4, )

= Cquation: = (X~D)+4y-1)=x(z-1)=0



	ch13_7~8
	s13.7_extra1
	s13.8_extra1.pdf

